o(® ¢ (rad)

Ratio

ooa,)cm)

107%E:

H
S

0.95

iy
TTTT [T T

gl d
-+
<+ :

=
o
iN

H
S
L

a(d cot(0))

1072

1072

T T T T T T
: ——
—— :

N

100

&

Ratio

i =8

e
TTTT [T T
A

B +
| |+

0.95

1 10 0 10° 10™ 1 10 0 10°
TPp, (PCA t% beamllneP TPp, (PCA t% beamllneP
— L) | FIESTCOWPT_TOQOEV
—e— D _Ef FREFit-testlowPt l(SOOevt
—— BRVEERER SR oL e,
—+— DOM ™~ :REFlt-8R4-testLoth100 evt

iy

¢
.
.

1

iy

é
m
P Gl
.
t

)
.

I
+

H
S
L

(0 d) (cm)

1072

1003 —

10

Rat|

e
TTTT [T
5
s

o

s

0.95
107

1

2 3
TPl;g)T (PCA t:(L)obeamIin%P



	Contents
	Page 1


